RED och-
R >
<

OEM STYLE SIDE STEPS

(2001-2006 WRANGLER TJ)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

(1) Pair of Side Steps 10, 14mm Socket
(2) Short Brackets Socket Wrench
(2) Long Brackets

(4) U-Bolts

(4) M8x1.25 Flange Nuts

(8) M6 Flange Bolts

(8)

8
8) M6 Washers.

SKU # J158308



"
REDROCK=
X

STEP1

Begin by threading the supplied u-bolts through the frame. Insert the shorter side of the u-bolt
and loop it into the other hole.

STEP 2

**Note: The shorter of the two brackets is the rear bracket. Carefully install the mounting bracket
onto the u-bolts. Loosely thread on the supplied flange nuts to prevent accidentally pushing the
u-bolts into the frame. Hook the tabs on the bracket into the slots in the frame. Then tighten down
the u-bolts evenly.



"
REDROCK=
X

STEP 3

..

Using the provided M6 hardware, bolt the side step to the brackets. Loosely install all hardware
prior to fully tightening. Once everything is aligned, tighten the bolts.

STEP 4

Installation is now complete.



	J158308 - RedRock 4x4 - AS-NB-3013 OEM Style Side Step (Wrangler 01-06 TJ)-01
	J158308 - RedRock 4x4 - AS-NB-3013 OEM Style Side Step (Wrangler 01-06 TJ)-02
	J158308 - RedRock 4x4 - AS-NB-3013 OEM Style Side Step (Wrangler 01-06 TJ)-03

